Here are the substantive typos that I have found so far; please let me know if you find any others.

Pg. 51:
In Equation 2.22, the final term in the numerator should be w;, rather than w;,.

Pg. 67 & 68:
The unsubscripted u term in Equations 2.34 and 2.36 should be u;.

Pg. 120:
Equation 4.23 should read: var(Ap) = E(Ap®) - [E(Ap)]?

Pg. 148:
The w in Equation 5.46 should be a w.

Pg. 208:

In the second bulleted point at the bottom of the page, the equal sign (=) should be replaced with
a “not equal” sign (#). Also, the second comma in the subscript of 3 should be deleted. The line
should thus read:

*Bwos fori #j, ...

Pg. 211:
In the second to last line of the page, the term “x = 0" should be replaced with “x = 0".
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